Woodman'’s Parts Plus
www.woodmanspartsplus.com

Enerzone Solution 1.3 Parts List

# ITEM # DESCRIPTION QTY/UNIT
1 | AC01318 FIRE SCREEN S244 1
2 30569 BLACK ROUND WOODEN HANDLE 2
3 | ACO01244 BLACK CAST IRON DOOR OVERLAY 1
3 | ACO01245 GOLD PLATED CAST IRON DOOR OVERLAY 1
3 | ACO01246 BRUSHED NICKEL CAST IRON DOOR OVERLAY 1
4 30123 SCREW #8 - 32 X 5/8" PAN QUADREX ZINC 6
5 | AC07868 1/2 " BLACK COIL HANDLE 1
6 | SE24126-01 REMPLACEMENT DOOR SOLUTION 1.6 1
7 | AC09170 REMPLACEMENT HANDLE AND LATCH KIT 1
8 30205 ZINC WASHER ID 13/32" X OD 13/16" 2
9 30533 LATCH KEY PATH PIN 1
10 30033 STEEL DOOR LATCH 1
11 30224 LOCKNUT 3/8"-16 HEX 1
12 | AC06100 BLACK GASKET AND SILICONE KIT 1/4" X 1/2" X 6' 1
13 | SE54585 REPLACEMENT GLASS WITH GASKET 9 1/8" X 15" 1
14 | AC06400 BLACK SELF-ADHESIVE GLASS GASKET KIT (6) 1
15 | PL54586 GLASS RETAINER FRAME 2
16 | SE53585 GLASS RETAINER WITH SCREW KIT (10 PER KIT) 1
17 30124 SCREW #8 - 32 X 5/16" TRUSS QUADREX ZINC 6
18 | PL63243 ASH LIP 1
19 30060 THREAD-CUTTING SCREW 1/4-20 X 1/2" F HEX 4
STEEL SLOT WASHER C102 ZINC
20 30076 STEEL "POP" RIVET 1/8" X 3/8" 2
21 30441 ENERZONE LOGO 1
22 | ACO01150 BLACK STEEL LEG 1.3 1
23 | SE63214 RIGHT OR LEFT LEG KIT 2
24 | PL63213 UNDERSIDE HEAT SHIELD 1
25 | ACO01135 PEDESTAL AND ASH PAN KIT 1.3 1



https://www.woodmanspartsplus.com/

Woodman'’s Parts Plus
www.woodmanspartsplus.com

26 30153 METAL SCREW #8 X 1/2" PAN SQUARE TEK
BLACK SELF DRILLING

27 PL63210 RIGHT INNER BASE DECORATIVE CORNER NICKEL

28 AC01331 FRESH AIR ADAPTER S244

29 AC01360 AIRMATE

30 SE45518 SOLUTION 1.3 INSTRUCTION MANUAL KIT

31 ACO07866 1/4 " BLACK COIL HANDLE

32 30125 MECHANICAL SCREW #8 X 1 1/4" QUADREX ZINC

33 PL63217 AIR CONTROL COVER

34 30094 HEX SCREW WASHER HEAD 1/4-20 X 3/4" F ZINC TYPE

35 30428 BUSHING

36 SE63323 AIR DAMPER CONTROL

37 ACO01000 ULTRA-QUIET 130 CFM BLOWER WITH

VARIABLE SPEED CONTROL

38 60013 POWER CORD 96" X 18-3

39 44070 CROSSFLOW BLOWER 115V-60HZ-56W (B)

40 44080 RHEOSTAT WITH NUT

41 44087 RHEOSTAT NUT

42 44085 RHEOSTAT KNOB

43 AC05530 THERMODISC KIT

43 AC02055 QUICK CONNECT THERMODISC

44 44046 THERMODISC F110-20F

45 29011 4" X 9" X 1 1/4" REFRACTORY BRICK HD

46 29020 41/2" X 9" X 11/4" REFRACTORY BRICK HD

a7 PL36058 4" X 9" X 1" X 1" REFRACTORY BRICK

48 PL36027 3" X 9" X 11/4" REFRACTORY BRICK

49 21386 BAFFLE INSULATION

50 PL63339 WEIGHT FOR BAFFLE INSULATION



https://www.woodmanspartsplus.com/

